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QUESTION 1

Is this a benefit of using NetEdit to manage ARubaOS-CX switches? API-based scripting of the network infrastructure 

A. Yes 

B. No 

Correct Answer: B 

Reference: https://www.arubanetworks.com/assets/ds/DS_NetEdit.pdf 

 

QUESTION 2

A customer has a Microsoft Hyper-V virtualized environment. You are helping a customer replace some of the hosts
with an HPE SimpliVity cluster. 

Is this a correct guideline for adding and managing the new cluster? 

Use the HPE SimpliVity Image Streamer to deploy the Hyper-V hypervisor to the nodes automatically. 

A. Yes 

B. No 

Correct Answer: A 

 

QUESTION 3

Refer to the exhibit. 
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The exhibit indicates the customer NSX design and your plan for the connected ToR switches, which are ArubaOS-CX
switches. 

Is this something that you must do to make the network design fit with the customer design? Enable VXLAN on the
ArubaOS-CX switches and link VXLAN IDs 5000-5100 to VLAN 10. 

A. Yes 

B. No 

Correct Answer: B 

 

QUESTION 4

A customer has a Red Hat OpenShift Container Platform (OCP) solution. You suggest deploying HPE 

Nimble and the HPE CSI Driver. 

With this proposal, can HPE Nimble fulfill this role for the solution? 

Host images for the private registry. 

A. Yes 

B. No 

Correct Answer: B 
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QUESTION 5

Is this how the Composable Fabric handles traffic at Layer 2? 

It uses MAC forwarding table to find the correct forwarding port. 

A. Yes 

B. No 

Correct Answer: B 
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